Addition and subtraction

KM and HBS

Use the squares to show your

working out. Make sure to check
if you’re adding or subtracting

—

. 3935+5711 =

2. 9983 -5544 =

3. 8376-6246 =

4. 5383 + 4359 =

5 2116 +1222=

6. 7166-1934 =

7. 8207-7761 =

8. 9913 +1072=

9. 3575+7049 =

10. 9584 -8758 =




CH maths

Use the squares to show your
working out. Make sure to check
if you’re adding or subtracting

10.
11.
12.
13.
14,

What number is three thousand and six more than four thousand, six hundred and ninety-five?
Subtract 6725 from 8053.

What number is four thousand, three hundred and forty more than five thousand and
seventy-six?

Calculate the difference between three thousand, two hundred and twelve, and two thousand
and forty-six.

Add £23.71 to £78.46.
What number is 5002 less than 70012
Increase £76.83 by £22.71.

What number is the sum of six thousand and sixty and two thousand, four hundred and
thirteen?

Decrease 2973 by 628.

What is added to £45.62 to make £87.00?

What number is four thousand, six hundred and twelve minus nine hundred and sixty?
Take £6712 from £8000.

If I increase a number by 2097 and get 4651, what number did I start with?

Add together 5892 and 3015, then subtract 6719.

. How much smaller is 4237 than 5138?




Challenge
Using the digits 1-8, how many different ways can the digits be arranged to make 2 numbers
whose sum is 9999?




